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In between,

__W.f_u%u.&ﬂn en.:oﬁo@ in 20 cities on the percentage of women in the workforce, Data were collected in 1990 and again in
ot rgﬂﬁmw”ﬂ‘“uﬂawu the percentage were the upon which the studies conclusions were to be based. What

1. A matched pairs design

11. An observational study

111 An experiment using blocking design
a) Tonly b) II only c) Il only

d) Tand M only ¢) Iand II only

19. .wso.wn mpany has developed a new for acne. You think men and women might react differently to the
medication, so you separate them into two groups. Then the men are randomly assigned to two groups and the women are
randomly assigned to two groups. One of the two groups is given the medication and the other is given a placebo. The basic
design of this study is

a) completely randomized

b) comparative randomized, stratified by gender

¢) comparati domized, blocked by gender

d) randomized, blocked by gender and type of medication

¢) amatched pairs design
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20. You want to determine how students in your school feel about a new dress Sanmo_.uoveo_goﬂ.?&g?&«
student council, call them group A, wants to word the question, “As one way to help improve student behavior at school
sponsored events, do you feel that there should be a dress code for school dances?” Another group, group B, v-n.wnﬂ. “Should
the school administration be allowed to restrict student rights by imposing a dress code for school dances?” i_._.ww_. group do
you think favors a dress code and which opposes it? Why? What kind of bias is present? How would you question

for the survey to avoid bias? | ~faaver B-oppote, Question wordimg biay, hi._s\w&
b Swep by ponthiag out peshies, § mentons stlchng Fights (n2Ave),
QMMNM:.L chovl ‘dances hawe aclress cocte

21. Various claims are often made for surveys. Why is each of the following claims not correct?

a) It is always better to take a census than to draw a sample. .4;.,3..\» meney :
b) Stopping students on their way out of the cafeteria is a good way to sample if we want 1o know about the quality
of the food there. CPTMETNS  Stromg / Diasecl .
¢) We drew a sample of 100 from the 3000 students in a school. To get the level of precision for a town o
30,000 residents, we will need a sample of 1000.  Sthrool P oP Mu.io from towin

d) A poll taken at our favorite Web site (www.statsisfun.org) gamered 12,357 responses. The majority said they
that most Statistics students

enjoy doing statistics homework. Wijth a sample size that , We can be pi S

nL_Ewﬁsse. STads s h_w: mﬁmﬂm«.n?ﬂ Qﬂ*.ﬂﬂﬁ«a - \Gn%b&ﬂ)ﬁ.#x»\.nﬁmkw.&
¢) The true p ge of all Statisti dents who enjoy the h 1k is called a “populatiog stafistic.”
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22. In a large city school system with 20 elementary schools, the school board is considering the adoption of a new

policy that would require elementary students to pass a test in order to be promoted to the next grade. The PTA

wants to find out whether parents agree with this plan. Listed below are some of the ideas proposed for gathering

data. For cach, indicate what kind of sampling strategy is involved and what (if any) biases might result. iAEnS
a) Put a big ad in the newspaper asking people to log their opinions on the PTA Web site. NP, W—g ¥ W ¢
b) Randomly select one of the clementary schools and contact every parent by phone. € (Lsfe, g«éﬂ.ﬂ\ﬁhﬁ

¢) Send a survey home with every student, and ask parents to fill it out and return it the next day. {@neuS Mn= R.?.,Sm.n
d) Randomly select 20 parents from each elementary schogl. Send them a survey, and follqw up with a phone call if

they do not return the survey within a week. (mulfi-stage Feesdl),

@oﬂ.a the opening of a press release from June 2004: “Starbucks Corp. on Monday said it would roll out a line
of biended coffee drinks intended to tap into the growing popularity of reduced-calorie and reduced-fat menu
choices for Americans.” You wonder if Starbucks customers like the new “Mocha Frappuccino Light” as well as the
regular version of this coffee.
a) Describe a completely randomized design using 40 Starbucks customers that would help answer this question. Be
sure to discuss blinding.
b) A friend of yours in AP Statistics says no, that adults and teenagers have different tastes and suggests that a
better way of designing an experimental study is to use a blocking design. Describe that type of experiment.
¢) But later in the day, a Stats teacher poked you and said that he thought a matched pairs design was the best
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(¢) This was a controlled experiment. Describe how it was controlled and explain the purpose of doing so.
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